®© ® © ©® ©

Nase] 2Y



@ {2, 3, 4} C {z | 2= 129 5}

@ {1, 2, 3} C {2z 1 <2 <5 AAE
® {1,3} ¢ {0,1,3,9}

@ {1, 2, 3, 4, 5} C {z|z= 67RO H4-)

® {z|ze 62 HWia} C {z | 2= 39 v}



i)
st
N
rlr

[\
=
~

D 1¢A

23,5, 7% 942 74 0, B8 F 59

A

& BT JEH? (

@ 2¢cA ®6¢A @ 9eA ® 3¢ A

7

o}
1=






Tt & B A T2 o)A v E
|

- =

dE 97ts nE A4 g

2178 ohA] b2 oM &



Y B = {a| 299 %) L ), WY B o] $2Y

sl

of M7

@® 4 @ 6 M ® s @ 10 7 ® 12 7



T @6]—14:{17 2, Cl—3, 6}7B:{2a b+47 37 1} Oﬂ EHf_)—]—O:]ACB’BCA
Ao, g —b 9 FH2?

D 1 @ 2 ® 3 @ 4 ® 5



AAHGE U = {o | o1 30 ol5t] AA5) o F
A= {x|2E 69 M}, B = {x | 2 129 i) <

@ AnB=A4 @ (AuB)c A

@ ACB ® A-(ANB)=o



